Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- VI SEMESTER-EXAMINATION - MAY/JUNE- 2012

Subject code: 361905 /2361905 Date: 29/05/2012
Subject Name: Industrial Management

Time: 10:30 am — 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic

Q.1 (a) Define Management. Explain functions of Management. 07
(b)  Explain line organization with its Advantages and disadvantages. 07
Q.2
(@) Define the term ‘Job satisfaction’ and discuss the factors responsible 07
for it.
(b)  What is Moral? Explain relationship between moral and 07
Productivity.
OR
(b)  Explain Democratic leadership. 07
Q.3
(a)  Write short note on Purchasing procedure. 07
(b)  Explain codification of stores. 07
OR
Q.3 (a) Explain Wilson’s Inventory model. 07
(b)  Explain the functions of material management. 07
Q.4
(a) Calculate the EBQ and ordering cost from the following data:- 07
1) Annual requirement = 16000 units.
2) Set-up cost = 2000 units/order.
3) Cost = Rs 40/units.
4) Carrying cost =10%
(b) Differentiate between CPM and PERT. 07
OR
Q.4 (a) Explain Critical ratio Scheduling. 07
(b)  List the software available for PPC and write their features. 07
Q.5
(@) Draw Network diagram based on following details and find critical 07
ath.
Activity A |B C D E F |G
Duration (Days) 1 9 6 4 5 8 2
Immediate predecessor A A C BD |C |EF
(b)  Explain DARSIRI method for value analysis. 07
OR
Q.5 (a) Explain crashing of network and updating of network. 07
(b) List the objectives and advantages of value analysis. 07

s sk sk skeoske sk sk st sfe s sesk



YUa—q

Y-

Y& —3

Y& —3

A=Y

A=Y

-y

-y

A2 vl UYL A AL oL S Ll

A0S AcRaldL Al SMel, Rs1Hel AL arldl.

513 sl vl Ul d-l 8 snEal uRool eudl.
AL ed 9. ? Beulesdl el UL AL 4L UsIR-L A0iH 6 d ARl
2l

sl e ALl
WRELH utald GUR g5 i avil.

22121 Astise-l 2l 53,

[ S Hita asldl.
AL AALer-L 518 AH%LA).

A2 2004 Hdldl w2l 24els €l el 21 sl w2l kL.

1) allils %RUld, 18000 sy
2) uRle v2l, 2000 BisY [ B
3) axgel 51, 3L w0 [2isu
¥) -l e3, 10 %

AU 2A U QAL dslad quil.

s1else AL Asyelor Al

Yl

2Yql

PPC 12 auldl sedz+{l Al dvil i d-{l ala@sdl omiidl.

A2 ealdd Hdldl el Aeas oM 1Rl i 5lAse w2kl

wlul A |B C D E F |G
xR0l ([RaHl) 1 9 6 4 5 8 |2
daxl yiousl uslu - |A |A |C BD|C |EF

Y [aeanal e elRell] wali unesal.

Yl

ARl — 590101 s Aeas A Il Vs A2as
Y [Aeanel Al gl 2 sluel Rl

sheoskeoskoseosteskesteste st skeoskesk

07
07

07
07

07
07
07

07
07

07

07

07
07

07

07

07
07



